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Note :  Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper. '

Wﬁ:wm—www@qﬁwﬁm@wﬁﬂm;mmﬁﬁﬁ
H1 WEH TH B e AR |

.

Attempt A/l questions.
All questions carry equal marks.
Use of simple calculator is allowed.
| Workings form part of your answer.
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1. (a) Whatis Management Accounting ? How does Management Accounting differ from Cost
Accounting and Financial Accounting ? 10
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What do you understand by cost reduction ? How is it different from cost control ? 5

A W W AW R T § ? A fEEm ¥ g fee veR a2
Or

(3rer=n)

Explain briefly the circumstances under which selling price below the marginal cost may

“be justified. 5
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The ratio of the variable cost to sales is 70%. The break-even point occurs at 60%

of the capacity of the sales. Find the capacity sales when fixed cests are Rs. 90,000.

Also compute profit at 75% of the capacity sales. 5
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Find out the amount of profit if P/V ratio is 30%, margin of safety ratio is 335% and

sales are Rs. 9,90,000. 5
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The following standards have been set to manufacture one unit of a product by the company : 15

Direct Material : ' Rs.
2 units of ‘A’ @ Rs. 4 per unit ' 8.00
3 units of ‘B> @ Rs. 3 per unit 9.00
15 units of ‘C’ @ Re. 1 per unit , 15.00

Direct Labour :

3 lab. hrs. @ Rs. 8 per lab. hr. 24.00

Total Standard Prime Cost 56.00

Thevcompany had manufactured and sold 6,000 units of the product during the year.
Direct material costs incurred were as follows :

12,500 units of ‘A’ @ Rs. 4.40 per unit

18,000 units of ‘B’ @ Rs. 2.80 per unit

88,500 units of ‘C’ @ Rs. 1.20 per unit

The company worked for 17,500 direct labour hours during the year. For 2,500 of these
labour hours, the company paid @ Rs. 12 per labour hour, while for the remaining labour

hours, it paid at the standard rate. You are required to calculate :
(i) Material Price, Usage, Mixture and Yield variances.

(i) Labour Rate and Efficiency variances.
P.TO.
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The following information is available from the records of the factory :

Budget
Fixed Overhead ' Rs. 30,000
Variabie Overhead Rs. 10,000
Hours 10,000
Output 5,000

Compute :

@ _ Total Overhead Cost Variance

(i7) Fixed Overhead Efficiency Variance

(i) Fixéd Overhead Capacity Variance

(iv) Fixed Overhead Expenditure Variance

(v) Variable Overhead Efficiency Variance

(vi) Variable Overhead Expenditure Vanance.
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Actual

Rs. 30,690
Rs. 8,910
9,900

4,500

15

FraEs
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8,910 %.

9,900

4,500
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Mercury Motor Parts Manufacturers produce various motor parts. The cost structure of a part

whose annual production is 90,000 units is as follows :

Rs.
Material 540 per unit
Labour (25% fixed) 360 per unit
Ex;;enses :
Variable ;80 per unit
Fixed 270 per unit
Total 1,350 per unit

The purchasing manager explores that a supplier is ready to supply the part @ Rs. 1,000.
Should the part be purchased and production stopped ? What will be your advice if the resources
producing that part are used to produce a product for which the selling price is Rs. 965.

In the latter case material price will be Rs. 390 per unit. | | 15
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Prepare a cash budget for the months of May, June and July 2014 on the basis of the following
information :
(1) Income and expenditure forecasts :

P.T.O.
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Months | Credit Credit Wages | Manufacturing Office Selling
Sales Purchases Expenses Expenses | Expenses
Rs. Rs. Rs. | Rs. Rs. Rs.
‘March . | 60,000 36,000 9,000 4,000 2,000 4,000
Apxﬂ 62,000 38,000 8,000 3,000 1,500 5,000
May 65,000 33,000 10,000 A 4,500 2,500 4,500
June 58,000 35,000 8,500 3,500 2;000 3,500
July ' 56,000 39,000 9,500 | 4,000 1,000 4,500
August | 60,000 34,000 8,000 3,000 1,500 4,500

(2) Cash balance on 1st May, 2014 Rs. 8,000.

(3) Plant costing Rs. 16,000 is due for delivery in July, payable 10% on delivery and the’

-

balang:e after 3 rrionths.
4 A;l;fance tax of Rs 8,000 each is payable 11n M.arch and june.
(5) Period of credit allowed :

(i) by suppliers—two months, and

(i) to customers—one month.

(6) Lag in payment of manufacturing expenses—Y month.

(7) Lag in payment of office and selling expenses—one month. 15
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S Ltd. manufacturing pressure cookers has drawn up the following budget for the'

year 2015-16 :
Amount (Rs.)
Raw Materials 20,00,000
Labour, stores, power and other variable costs 6,00,000
Manufactuﬁng overheads | 7,00,000
Variable distribution costs : 4,00,000 |
General veshead including sllng L 300000
Total | 40,00,000
Income from sales 50,00,000
Budgeted profits 10,00,000

The firm has two proposals :

()  The General Manager suggests reducing selling price by 5% and expects to achieve an

additional volume of 50%. There is sufficient manufacturing capacity. More intensive.
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manufacturing programmes will involve additional costs of Rs. 50,000 for production planning,
It will also be necessary to open an additional sales office at a cost of

Rs. '1,00,000 per annum.

(i) The sales manager on the other hand, suggests increasing selling price by 10%
which is estimated to reduce sales volume by 10%. At the same time, saving in manu-
facturing overhead and general overhead of Rs. 50,000 and Rs. 1,00,000 per annum
respectively.

Which of these two proposals would you accept and why ? 15
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The following estimates are available in respect of A Ltd. :

~ Amount (Rs.)

Fixed Expenses :
Wages and Salaries 10,50,000
Rent, Rates and Taxes ) 5,00,000
. Administrative Expenses 8,50,000

Depreciation 6,50,000
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Semi-variable expenses (at 50% capacity) :

Maintenance and reﬂpairs 3,50,000
Indirect labour | | 7,90,000
Sales department salaries 3,80,000
Sundry administrative salaries , ' » 2,80,000

Variable expenses (at 50% capacity) :

Material - | | 21,10,000
Labour ’ 20,20,000
Other expenses | ’ | 8,00,000
Ass;nne : |

o  Fixed expenses remain constant for all levels of pfoduction.

o  Semi-variable expenses remain constant between 45%-65% capacity, increasing by 10%

between 65% and 80% capacity, and by 20% between 80% and 100% capacity.

Sales at various levels are : [Rs.)

o  50% capacity 120 lakhs
o 75% capacity - 170 lakhs
° | 100% capacity 220 lakhs

Prepare a flexible budget for the year 2016 and forecast the profit at 50%, 75% and 100%
capacity. ' | 15
| | P.TO.
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(a) What aré the basic principles of Responsibility Accounting ? V5
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() XYZ Ltd. supplies you the following data for the year ending 31st Dec., 2014 :
Producﬁon——~1,100 units, sales 1,000 umts

There was no opening stock

Variable manufacturing cost per unit Rs. 7

- Fixed manufacturing overhead (total) Rs. 2,200
. Vériable selling and administration overhead per unit Re. 0.50
Fixed selling and administration overhead (total) Rs.‘ 400
Selling pﬁce per unit | | _ \ Rs. 15

P.T.O.
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Prepare :
(/) Income statement under variable costing
(i) Income statement bunde.r absorption costing'

(i) Explain the difference in profit under variable and absorption costing, if any. 10
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Explain the nature and significance of :
() Cost Centre
(i) Revenue Centre
(iii) Profit Centre. 10
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Diamond Manufacturer Ltd. manufactures two products—X and Y. Product X takes ¢
hours to make and product Y takes 12 hours. In a month of 27 days of 8 hours eacl

1,200 units of X and 750 units of Y were produced. The firm employees 75 men i

the department producing these two products. The budgeted hours are 1,86,000 per yea:

Calculate the following :

()  Activity Ratio

(i) Capacity Ratio.

P.T.C
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